AB Calculus
2.1 Rates of Change and Limits

AP Style Questions:
y
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The figure above shows the graph of the function f. Which of the following statements are true?

L lim £ () = f(2)v~
I lim f(z) = lim f(a) v | cna 1L

. limf (=) = £ (6)

For which of the following does ]ini [ () exist?
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AB Calculus
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Graph of [

The graph of y = f () is shown above. Whatis lim f(2)? pNE
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Let f be the piecewise function defined above. The value of lim f(z) is a 5\’\00\d«§€ need
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AB Calculus
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F(2)=3 limf (z) = 4
9(2)=-6 |limg(z) = -6

z—2

h(2)=-3 |limh(z)=2

The table above gives selected values and limits of the functions £, g, and h. What is lnt% (h(z) (5 (z) + g(z)))?
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